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Allan has six pears and Donald has six pears. How many pears do Allan and Donald have
together?

Adam has nine more apples than Paul. Paul has two apples. How many apples does Adam
have?

Some balls were in the basket. Nine more balls were added to the basket. Now there are 14
balls. How many balls were in the basket before more balls were added?

Nine red oranges and nine green oranges are in the basket. How many oranges are in the
basket?

Six marbles are in the basket. Four more marbles are put in the basket. How many marbles
are in the basket now?

12 peaches were in the basket. Eight are red and the rest are green. How many peaches are
green?

Three plums were in the basket. More plums were added to the basket. Now there are six
plums. How many plums were added to the basket?

Two balls are in the basket. Two more balls are put in the basket. How many balls are in the
basket now?

Five marbles were in the basket. More marbles were added to the basket. Now there are
seven marbles. How many marbles were added to the basket?

Steven has two more oranges than Paul. Paul has five oranges. How many oranges does
Steven have?

Get more worksheets at RudolphAcademy.com Keep on learning!



